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32T ECON
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ECONOMICS
Full Marks : 80
Pass Marks : 24
Time : Three hours
The figures in the margin indicate full marks

for the questions.

PART-A (F -9)
0. .No. 1 (i-wvi) carries 1 mark each | 1x6 = 6
Q. Nos. 2 - 7 carry 2 marks eacl Ix6 = 12
Q. Nos. 8 -11 carry 4 marks eacl 4x4 = 16
Q. No. 12 carries 6 marks : 6x1 = 6
| Total = 40

PART-B (2 -=i#)
Q. No. 13 (i-wvi) carries 1 mark eacl | 1x6= -6
Q. Nos. 14 =19 carry 2 marks eacl 2502
Q. Nos. 20 - 23 carry 4 marks each 4x4 =16
Q. No. 24 carries 6 marks 6x1= 6
Total = 40

Total (PART A & B): 40+40=80
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PART-A /S-St

’S

Define involuntary unemployment. : ‘ i

SAsRFe fAaeis e # |

What is effective demand ? : 1
Aied vitkal e
What do you understand by depreciation of capital ? 1
GNP = GDP - : ' (Fill in the blank)
; 1
GNP = GDP - ‘ L (9T 32 95 79)
What is foreign exchange market 7 ; ‘ 1
REEe /Rl TgR e

Which of the following transactions are included in the current

account of Balance of Payment ? 1
SRR FAOR Hore Z5ve FRERS @RED EEEe SeYE 71?2

(@) Import and Export of goods
TR S i 2@l

(b)) Import and Export of services

FER SR e 1@

(2] -




(c) Unilateral transfer

(d) All of the above
GoEE ASCENER
(Choose the correct option)

(v Geohl TR GlEe)

2 Write the differences between GDP at market price and GDP at factor cost.

)
soE w5 GDP % TARS e GDP=S ies 214<y Rl
OR/S1<1

Write one similarity and one difference between intermediate goods and

capital goods. | 1+1=2

SEe] 7y % EEN B 457 A S G0 7Ly &

o

What do you understand by ‘Paradox of Thrift’ ?

O

Sieeyq 9 SregRes MR e 3@
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OR/=31 | e
What is aggregate supply ? Explain. _ - 2

A @6 7 3@ &

4. Write two differences between direct tax and indirect tax. 2

orepE T O AEE ] e 707 AL

o1

What are the components of high-powered money ? 2

TrEEeTE 4R SR & e

OR/S%T .

Define Bank Rate and Cash Reserve Ratio. : 1+1=2

@RS TR WS AW AT THires weEl B

6.  Write fwo differences between Balance of Payment and Balance of Trade.

2

AfREEIIEE TSl U (e FeE W 757w i |

7. Write in brief the ideas of fixed exchange rate and flexible exchange rate.

2

= e g9 wiR RGN [Rtwy 739 gi=en wor st 4

]
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8.  What is investment multiplier ? If a new investment of Rs. 300 crore
increases National Income by Rs. 1200 crore, calculate the value of
investment multiplier. In this case, what will be the value of MPC ?

1+1+2=4

e w2 7 300 @i 5 e R s wig 1200 (i 5

I 20", (ore R 8o M o 9 | GReRgS, MPCS 3 & 290
OR /241

Briefly discuss the components of aggregate demand.. ' 4

S 5PN SAMTER FKEECe STl |

9.  Write differences between the following concepts : (any fwo) 2+2=4
AskRe g WeR A & ¢ (RieEr 7619)
(i) Autonomous inveé;_tment an.d induced investment.
oy RS W% wierge [ |
(i) Ex-ante consumption -and Ex-post consumption.

siefe TATS % (A TATS |
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(iti) Marginal propensity to consume and Marginal propensity to save.

ZifeE Toren 2390 % fifts #eey 299w |

(iv) Marginal propensity to consume and Average propensity to consume.

i ToAren Skl INF 9T THrels 239 | - . |

10. Discuss four main functions of Central Bank. ~ | 4
@ @FF bIE6) 92 TR SNCETo 51|
OR /9341

Explain how commercial banks create credit. 4

Fiffere @EF @EEME 29 3% 5 i T[]

11. Discuss the components of Government Budget. : 4

5K QSO CAMITHIZ. SCEG 341 |
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OR /ST

Define the following : : <] e =i

e s AKE ¢

(i) . Fiscal [?'eficit
JGERE 9o

(ii) Primary Deficit
AT =i

(iij) Planned government expenditure

sikalEe vekl T

(iv) Non-planned governnﬁent expenditure.

sfReEI-ARYS bITR] TH |

108 Explain how GDP is calculated using Income method. 116

SR AFST AT (AR GDP ol =1 =, R <1 |

-

OR /S

Discuss the reasons why GDP can’t be used as an index of country’s welfare.

6
GDP % (71 <73 TN 7o el 9T TR RS SR oAl B
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PART-B / 2-5i¢4!

M8 i) vDefine sustainable development. : Tl

TS GRANE ARGl 574l |

(i) During British rule, decay of Indian handicrafts was cauged oy —

il

3ioe AT SEes TBFET GISOR TRe SifRE —

(@) Discriminatory tariff policy of the British Government

&ftor sess Rrewes w= Fife

(b) Competition from machine-made products
TZ-RE® wq= 21 FIE @3 dfearel
‘() Change in patterns of demand
BRI 4o #Affada
(d) All of the above

GRS AR

- (Choose the correct option)

. (% GeFch] R Clered)
(ii) In which year the NITI Aayog was formed ? | A 1

S (NITI) Sizais i 5+® 5199 =91 2 2

32T ECON e



(iv)

(v)

(m’_)

What is the difference between ‘Labour Force’ and ‘Work Force” ?

1

‘Fife o Tfes ToR Aden &

Mention one similarity of the economic policies adopted by India and

Pakistan. : _ S 1

CIN® W% ARSI 920 1 WLAST [T by ey T 7211

The ‘Great Leap Forward’ campaign in China focused on —

(S

Sl "’ﬁl‘fbﬁﬁ IR @7 (Great ‘Leap Forward) Sifeq«R < ©&®

<,

ifes —

32T ECON

(a) Privatisation

EIGAIORT ]

(b) Widespread industrialisation

TN T el
(c) Development of services sector
G 19T [

(d) Economic reform

e Aemg

(Choose the correct option)

(®% B! Jife CHe)

[9] Contd.




14. Mention fwo major industrial sector reforms in the Indian economy under

the policy of liberalisation. 2

‘ . o F o v merel <
SriSeRd SIS SR SRR Wi Tl 199 sigel 91 70I SRR IRFS
e 9
- OR/=4<T

Write about fwo positive effects of LPG policies in the Indian economy. -

2

SR TIATfew LPG Sifes 7o) 48T ACRA e Tl

15. Write two merits of GST.
GST-X 7of HR&! & |
OR /%241

What is demonetisation ? Mention one positive offect of demonetisation in

D

the Indian economy.
fmizad &2 SRR waifes EEIFR 57 4 eSS |
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16.  What is structural composition of an economy ? As on 2021, which scctor

contributed highest to the GDP of India ? : 1+1=2

weRiT ufefes AR 2 2001 51O @RI <% SRS CDP 5 oie

zﬁd“(mmmﬁ?

OR /<724

NI

Write two characteristics of small-scale industries.

TG SIS 757 (AR ol |

17. Write two differences between economic infrastructure and social

infrastructure. 2
| m@.@mgﬁmﬁgmaﬁﬁﬁﬁ$ﬁﬁﬁﬁﬂ%§ﬁ?ﬁﬁ%ﬂ%ﬂl
OR /%<t
p)

- Write about two problems faced by the power sector in India.

\

SITeT *fe 198 TYIN @R 75 AR [ BT
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18. Write any two measures undertaken by the Government of India to

a

improve agricultural marketing.

T T R THEE (A SIFS DI AT Ricpiea 707 e &)

-

OR /=141

What do you understand by diversification of agriculture ?

Ffg whaswe ke & 391

19. What are the fliree main approaches undertaken by Government of India

to alleviate poverty ? 2

rRTel HEIR A O B A% 3 = Al o i f&e
OR /®I24]

Write a short note on MGNREGA.

MGNREGA-7 R 3ts <51 (Bit el
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20. Discuss the goals of planning in India. ‘ 4

| iR ARTEAR SOHPTR. SICEIE 5 |
OR /=241

Briefly discuss two positive and two negative impacts of Green Revolution.

2+2=4

T [227 757 (9 e 701 RS ek ﬁw ST DSl T |

21. Write a comparative note on the demographic indicators for India, China

and Pakistan. ) 4
SRS N Foenes Bfee ore, 57 o9 sAienm b womEs
(I Zge 59 |

OR /%721

(i)  Write two reasons for rapid economic development in China. 2
Bing wS ST Renpim 7oy iael o7l |
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(ii) Write fwo reasons for slow economic growth in Pakistan. 2

AiEwER T2 Sdees 3@l 7or s @)

22.  Write about different types of unemployment. : 4

Wﬁﬁﬁﬁ@mﬁ'ﬁmﬁ?ﬁl

23, Is economic growth, a cause of environmental degradation ? Justify your

answer. 4

e T SR BB (A @Bl FIRe @R (OIS TES AN Ffegesl

S9RCEIR |
OR /<241

(i) Write two causes of global warming. ; : 2

R Tl Ifaw 7or Fie o |

(ii) Suggest two measures for attaining sustainable derIOpmeht in India.

2

oA qoEs THEe i @ 70! AN SiaEepiE |
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24. What is organic farming ? Discuss its merits and demerits. ~ 1+5=6

ERs $R 2 W R4 9% SRR s <=
OR /<1341

- What is Human Capital ? Discuss the sources of human capital formation.

- ' - - 145=6

T e [0 TR T 199 SRR vl < |
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